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GCSE MATHEMATICS - LINEAR PAPER 2 FOUNDATION - 4370-04

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 15760 6.2 1.4 7 89 99.4
2 15751 2.3 1 4 57 99.3
3 15785 6 1.2 7 85.7 99.5
4 15778 4.2 1.1 5 83.2 99.5
5 15609 1.3 0.8 3 43 98.4
6 15708 1.9 1 5 37.4 99
7 14802 2.5 1.6 4 62.3 93.3
8 12323 0.5 0.8 2 25.7 77.7
9 14362 1.6 1.8 4 40 90.6

10 15171 4.9 2.7 8 61.5 95.7
11 15626 3.5 1.8 6 58.5 98.5
12 15371 4.8 2.6 9 53.6 96.9
13 14246 1.2 1.1 3 41.4 89.8
14 13411 2.8 2.2 7 39.3 84.6
15 14126 1.1 1.1 4 28.4 89.1
16 13592 1.2 1.1 5 24.8 85.7
17 14861 1.3 1.2 8 15.9 93.7
18 13622 2.5 1.9 5 50.5 85.9
19 9449 0.3 0.8 4 6.6 59.6

89 57 85.783.2 43 37.4 62.3 25.7 40 61.5 58.5 53.6 41.439.3 28.424.8 15.9 50.5 6.6 
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	GCSE Mathematics Linear Paper 2 Foundation 4370-04
	Item Level Data
	Facility factor graph
	Question 12c
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked

	Example 3
	Example 3 marked


	Question 17c
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked

	Example 3
	Example 3 marked


	Question 18
	Mark scheme
	Example 1
	Example 1 marked

	Example 2
	Example 2 marked

	Example 3
	Example 3 marked
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2016 Summer Linear Paper 2 (Calculator allowed) 


Foundation Tier 
Marks Comments 


12. (c)      30/50,   18/50,   21/50      2/5 = 20/50   


OR  60/100, 36/100, 42/100     2/5 = 40/100 


  (Differences = 10/50,  2/50,    1/50) 


(OR   20/100, 4/100,   2/100) 


Nearest is 21/50 (OR 42/100) 


B1 


M1 


A1 


Common denominator with at least 2 correct equivalents 


Accept percentages and/or decimals throughout 


All 4 fractions given correctly with a common denominator 








 


 



Sticky Note

Very many candidates did not give full reasons for their choice of fraction.
Also they often only gave an (incorrect) supporting reason for their choice and did not offer reasons why the others were not nearer 2/5.

B1,M0,A0








 


 



Sticky Note

Only comparing one choice with 2/5.

B1,M0,A0








 


 



Sticky Note

The candidate has found all the fractions in the common form of decimals, but has then deduced the incorrect fraction.
B1,M1,A0.
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Examiner


only
12.	 (a)	 Calculate 28% of £42.	 [2]


	


	


	


	 (b)	 The total cost of 6 loaves and 14 baguettes is £16.54.
		  One loaf costs £1.24. Find the cost of one baguette.	 [4]


	


	


	


	


	


	


	 (c)	 Giving full reasons, find which of the following fractions is nearest to     :


	 [3]
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2016 Summer Linear Paper 2 (Calculator allowed) 


Foundation Tier 
Marks Comments 


B1


17.(c) Sight of mid points 5, 15, 25, 35 


(Total number of branches is) 150  


10×5 + 30×15 + 70×25 + 40×35 


 (=50+450+1750+1400    =3650) 


 ÷150 


 24(.333…. mm) 





B1 


B1 


M1 


m1 


A1 


Stated or implied.   


Accept embedded within incorrect working e.g. 150/4, or 


sight of 37.5     


FT provided their mid points are within or at the bounds of 


the intervals (all upper bounds used gives 4400÷150, all 


lower bounds used gives 2900÷150) 


Intention to divide their Σfx by 'their 150' provided 'their 


150' ≠4 (‘their 150’ from attempt 10+30+70+40, i.e. similar 


order) 


CAO 


Luke selected, MR-1 then: 


Mid points 5, 15, 25, 35  B1 


Total number of branches 150      B1 


5×30 + 15×30 + 25×70 + 35×20  M1 


      ÷ 150  m1 


        20(.33… mm)  A1 


With appropriate FT 












 


 



Wyn

Sticky Note

Getting the required information from the frequency diagrams proved too difficult for most Foundation level candidates.
The vast majority did this incorrect method to get 37.5 (mm).
B1 was allowed for the sight of 150, which was not used by candidates 2 and 3.








 


 



Sticky Note

Some found the correct products using the upper boundaries of the classes but divided by 4 instead of 150.

B0,B0,M1, m0,A0








 


 



Sticky Note

All correct except for realising there were 150 branches.

B1,B0, M1,m0,A0
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Examiner


only
	 (b)	 Who cut more of the branches with the greater diameters on this day?
		  Give a reason for your answer.	 [1]


	


	


	


	


	 (c)	 Calculate an estimate for the mean diameter of all the branches that Bryn cut on this 
day.	 [5]


	


	


	


	


	


	


	


	


	


	


	


	 (d)	 The median diameter of the branches cut by Bryn lies in the group 20 mm to 30 mm. 
		  Explain how this can be checked using the frequency diagrams.	 [1]
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2016 Summer Linear Paper 2 (Calculator allowed) 


Foundation Tier 
Marks Comments 


18. (2010: £3400 to BRL)  2.86  × 3400 


  9724 (BRL) 


      (2014: 9724 BRL to)           9724  ÷ 3.71 


     (£)2621(.024..) 


     (Ava makes a loss)     Loss AND (£)779 





M1 


A1 


M1 


A1 


A1 


May be implied in later working 


FT 'their derived 9724', provided ≠ 3400 


FT 3400 - 'their 2621(.024)'  rounded to the nearest pound 


provided both  M marks awarded 


A0 for sight of (£)778.98 or (£)778(.9…), or  for (£)779 


without indication of loss. 


Alternative: 


(2010: £3400 to BRL) 2.86  × 3400  M1 


     9724 (BRL)  A1 


(May be implied in later working) 


(2014: £3400 to BRL  3.71 × 3400   = 12614 BRL)   


(AND Difference in BRL 12614 – 9724 =)  2890 (BRL)   A1 


(FT 12614 - ‘their derived 9724’) 


(Difference in £ is) 2890 ÷ 3.71 (= 778.975…)  M1 


(FT ‘their 2890’) 


 (£)779 AND Loss      A1 


OR 


(Difference in exchange rates) 3.71 – 2.86  (= 0.85)   M1 


(Difference in BRL)        0.85 × 3400     


M1   


(FT ‘their 3.71 – 2.86’) 


   2890 (BRL)      A1   CAO 


(Difference in £ is) 2890 ÷ 3.71 (= 778.975…)  M1 


(FT ‘their 2890’) 


 (£)779 AND Loss     A1 


If no marks award SC1 for interpretation GAIN and 1010 


(from 3400 ÷ 2.86 × 3.71)  


GCSE Mathematics LP2 FT MS Summer 2016/LG 








 


 



Sticky Note

First two conversions done correctly, but did not find how much money Ava lost.

M1,A1,M1,A1,A0








 


 



Sticky Note

Many candidates did not use their 9724 (BRL) but reverted to the original 3400.
Also did not find how much money Ava lost.

M1,A1,M0,A0,A0








 


 



Sticky Note

Some candidates divided in both cases and used 3400 each time.
They also found how much money Ava lost, but did not give it correct to the nearest pound.

M0,A0,M0,A0,A0
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Examiner
only


18.	 The currency in Brazil is known as the Brazilian Real, BRL.


© WJEC CBAC Ltd.


Year Pound (£) Brazilian Real (BRL)


2010 1 2.86


2014 1 3.71


	 In 2010, Ava bought £3400 worth of Brazilian Real, BRL.
	 In 2014, Ava exchanged this money back into pounds.


	 Did Ava gain or lose money?
	 State how much money Ava gained or lost, giving your answer correct to the nearest pound.		


	 [5]


	


	


	


	


	


	


	


	


	


	


	


	







